	GRADE 10


	LESSON
52


	SALARIES AND WAGES
                                     1   SALARY SCALES

                                     2    DEDUCTIONS:  PAYE




	WORKSHEET 1



	SALARY SCALES





	Annual increment (increase)

The amount of the yearly increase as shown in the salary scale.



	EXAMPLE 1   -   SALARY SCALE


Salary scale of J Jones

Notch:  R80 000 X R3 000 – R92 000 X R4 500 – R105 500

EXPLANATION

Year 1 start with         R80 000  
Year 2    + R3 000 =   R83 000   

Year 3    + R3 000 =   R86 000           R3 000 increase p.a. until R92 000 p.a. is reached

Year 4    + R3 000 =   R89 000

Year 5    + R3 000 =   R 92 000 
Year 6    + R4 500 =   R96 500

Year 7    + R4 500 =   R101 000         R4 500 increase p.a. until R105 500 p.a. is reached

Year 8    + R4 500 =   R105 500 

	ACTIVITY 1.1  


Showstar Traders employed M. Botha on 1 January 2002.  
The following annual scale was agreed upon:

                  180 000 x 12 000 – 204 000 x 18 000 – 240 000
REQUESTED

              Complete the following table:

	Year
	Annual increase
	Annual salary
	Monthly salary

	2002
	
	
	

	2003
	
	
	

	2004
	
	
	

	2005
	
	
	

	2006
	
	
	


	ACTIVITY 1.2 


Ann Maseko was appointed manager of the business as from 1 March 2003, on the following salary scale:

               R153 000 X R9 900 – R192 600 X R10 800 – R225 000

REQUESTED

1  Calculate the annual salary that Ann Maseko can expect for the year commencing 
1 March 2005.

2  From what date will Ann Maseko receive her maximum salary?
ANSWER
	1
	

	2
	


	WORKSHEET 2



	DEDUCTIONS  -  INCOME TAX (PAYE) – COMPULSORY DEDUCTION



	PAYE

Pay As You Earn
	This tax is paid by the employee to the South African Revenue Services (SARS) and is calculated according to tax tables that are issued by SARS.  The more he earns, the higher the tax rate.

It is payable to SARS



	SITE

Standard Income Tax on Employees
	If an employee’s annual salary is below a certain amount (set by the Minister of Finance), he is required to pay SITE.  This calculation is done at the end of the tax year, but the tax is subtracted weekly or monthly.

It is payable to SARS




CALCULATIONS OF INCOME TAX
	EXAMPLE 2   -   INCOME TAX (PAYE)


REQUESTED

Calculate the income tax to be deducted monthly on the following annual salaries.
	Employee
	Annual salaries
	Monthly PAYE deductions

	EXAMPLE
	R130 000 at 15% of gross 
	R19 500 p.a. /12  =  R1 625,00 p.m.

	B Baloyi
	R80 000 at 13% of gross salary
	

	S Smit
	R300 000 at 22% of gross salary
	

	E Els
	R40 000 at 6% of gross salary
	


ANSWER

	Employee
	Annual salaries
	Monthly PAYE deductions

	EXAMPLE
	R130 000 at 15% of gross 
	R19 500 p.a. / 12  =  R1 625,00 p.m.

	B Baloyi
	R80 000 at 13% of gross salary
	R10 400 p.a.  ÷ 12      =      R866,67 p.m.

	S Smit
	R300 000 at 22% of gross salary
	R66 000 p.a. ÷ 12       =      R5 500,00 p.m.

	E Els
	R40 000 at 6% of gross salary
	R2 400 p.a.   ÷ 12       =      R200,00 p.m.



	ACTIVITY 2.1  


Use the following income tax scales to calculate the income tax to be deducted monthly on the salaries for the employees in the answer sheet below.

Income tax scales 
	MONTHLY SALARY SCALE
	RATES OF TAX

	0 – R80 000
	18% of each R1

	R80 001 – R130 000
	R14 400 plus 25% of the amount above R80 000

	R130 001 – R180 000
	R26 900 plus 30% of the amount above R130 000

	R180 001 – R230 000
	R41 900 plus 35% of the amount above R180 000

	R230 001 – R300 000
	R59 400 plus 38% of the amount above R230 000

	R300 001 and above 
	R86 000 plus 40% of the amount above R300 000


ANSWER

	Employee
	Monthly salaries
	Monthly PAYE deductions

	EXAMPLE
	R130 000 
	R130 000  -  R80 000  =  R50 000  X  25%  =
R12 500  +  R14 400  =  R26 900

	B Baloyi
	R195 000 
	

	S Smit
	R290 000 
	

	E Els
	R40 000 
	


	ACTIVITY 2.2  


Study the monthly income tax deduction table from SARS (EMP10 – VOLUME 43) on page 5
Use the table to calculate the income tax to be deducted monthly on the salaries for the following employees.

ANSWER

	Employee
	Monthly  salaries
	Monthly PAYE deductions

	EXAMPLE
	R8 500
	R1 576, 08

	B Baloyi
	R9 100
	

	S Smit
	R9 050
	

	E Els
	R8 290
	


Extract from monthly income tax deduction table 

SARS TABLE C

EMP 10 – VOLUME 43

	MONTHLY DEDUCTIONS TABLE



	Remuneration
	Annual

Equivalent 
	Tax 
	Remuneration
	Annual

Equivalent 
	Tax 

	8245     -     8260
	99030
	1504,08
	9045     -     9060
	108630
	1744,08

	8261     -     8276
	99222
	1508,88
	9061     –    9076
	108822
	1748,88

	8727     -     8292
	99414
	1513,68
	9077     -     9092
	109014
	1753,68

	8293     -     8308
	99606
	1518,48
	9093     -     9108
	109206
	1758,48

	8309     -     8342
	99798
	1523,23
	9109     -     9124
	109398
	1763,28

	8325     -     8340
	99990
	1528,08
	9125     -     9140
	109590
	1768,08

	8341     –    8356
	100182
	1532,88
	9141     -     9156
	109782
	1772,88

	8357     –    8372
	100374
	1537,68
	9157     -     9172
	109974
	1777,68

	8373     -     8368
	100566
	1542.48
	9173     -     9186
	110166
	1783,17


	ANSWERS




	ACTIVITY 1.1  


              Complete the following table:

	Year
	Annual increase
	Annual salary
	Monthly salary

	2002
	
	180 000
	15 000

	2003
	12 000
	192 000
	16 000

	2004
	12 000
	204 000
	17 000

	2005
	18 000
	222 000
	18 500

	2006
	18 000
	240 000
	20 000


	ACTIVITY 1.2 


	1
	R172 800( (153 000 +9 900=162 900 (1/3/2004) + 9 900 = 172 800 (1/3/2005))

	2
	1 March 2011 ((172 800(1/3/2005) + 9 900 = 182 700 (1/3/2006) + 9 900=192 600(1/3/2007)+ 10 800 = 203 400(1/3/2008) + 10 800= 214 200(1/3/2010) + 10 800=225 000 (1/3/2011))


	ACTIVITY 2.1  


	Employee
	Monthly salaries
	Monthly PAYE deductions

	EXAMPLE
	R130 000 
	R130 000-R80 000 = R50 000 X25%=R12 500 +
R14 400=R26 900

	B Baloyi
	R195 000 
	R195 000-R180 000=R15 000 X 35% = R5 250 + 41 900 = 
R47 150

	S Smit
	R290 000 
	R290 000 – R230 000= R60 000 X 38% = R22 800 + R59 400 = R82 200

	E Els
	R40 000 
	R40 000 X 18% = R7 200


	ACTIVITY 2.2  


	Employee
	Monthly  salaries
	Monthly PAYE deductions

	EXAMPLE
	R8 500
	R1 576, 08

	B Baloyi
	R9 100
	R1 758,48

	S Smit
	R9 050
	R1 744,08

	E Els
	R8 290
	R1 513,68


Salary scales





It shows the employee what his starting salary (notch) is.  


The employee can see what his future increments (increases) and notches will be.


There is a minimum salary and thereafter a certain amount in annual increments until the maximum salary is reached.








ACTIVITY 1





ACTIVITY 2
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